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Choosing a Property to Rent 

 

You are searching for a property to rent the new city where you have just got a new job. You have narrowed the choice down to three 

properties all of which have the same rent. 
 

You must make a choice as soon as you can because your new job starts at the beginning of next month. You expect to live in the house for 

about 2 years, after which you may decide to buy a property rather than rent. Your estate agent has sent you further information about the 
properties to help you make your decision. As you need to commute by public transport to work the estate agent has calculated the times it 

will take, which you should assume are accurate. Also, the state of repair is assessed on a scale from 1-10 (where 10 is the best possible 

condition) 
  

 House A  commute: 38 minutes each way  state of repair: 8.5 
  

 House B   commute: 26 minutes each way  state of repair: 6.1 

  
 House C   commute: 29 minutes each way  state of repair: 5.8 

 

Which house would you choose (please indicate with a tick)? 

 

 House A 

  

 House B 

  

 House C 
 

 

Figure 3.1: Choice problem in Experiment 1 

Subjects were faced with a trade-off between two characteristics of value: distance to work and state of repair of the property. Three 

treatments varied the nature of the trade-off faced by introducing decoy choices (which choice C is here). 
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Figure 2.2: Illustration of the Compromise Effect 

With a core choice set of {A,B} a compromise effect occurs if 

the relative proportion of people choosing B increases when the 

choice set is expanded to become {A,B,E}. Similarly, if the 
choice set becomes {A, B, F} it is expected that the proportion 

choosing A will increase. 

  

  

  

Attribute 2 

Attribute 1 Attribute 1 

Figure 2.1: Illustration of Asymmetric Dominance 

With a core choice set of {A, B} asymmetric dominance is seen 

if the introduction of the dominated alternative, C – expanding 
the choice set to {A, B, C} – increases the proportion of people 

choosing B. Similarly if the choice set is {A, B, D} dominance 

is seen if the proportion choosing A increases. 
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Figure 3.2: Example of virtual tour method 

Subjects were presented with information about each property in a visual way, with images drawn from property particulars. Each 

presentation was scripted to ensure fidelity between treatments. 

 
 

 

 

 

 

 

 

Variable Exp. 1 Exp. 2 Exp. 3 Exp. 4 Exp. 5 

n 171 149 225 139 114 

Male 50% 44% 46% 49% 41% 

Aged 18-25 82% 87% 81% 88% 76% 

British 50% 55% 50% 57% 43% 

Own property 6% 5% 6% 8% 4% 

Knowledgeable in property 15% 15% 14% 15% 15% 

 

Figure 4.1: Summary statistics for experiment participation 

Rows show the percentage of subjects fulfilling the criteria in each case. Note that the final row presents the 

percentage who answered yes to the question: “Is there some reason why you might be particularly knowledgeable 
about property?” They were also classed as knowledgeable if they indicated yes to at least three of the following 

statements when asked whether it applied to them: study property at University; work in the property industry; 

considered buying a property; take an interest in property in the media. 
 

 

  



 

 

 

Test Choice Set and Order A B C D p-value n 

        

Panel A: Set Composition 

        
 A, B 57 43    35 

1.1 A, B, C 46 54 0  0.111 39 

1.2 A, B, D   75* 25  0 0.056 24 
        

 B, A 59 41    22 

1.3 C, B, A 32       68*** 0  <0.001 25 
1.4 D, B, A 60 40  0 0.549 25 

        

        

Panel B: Ordering Effects 

        

 B, A 59 41    22 
1.5 A, B 57 43   0.471 35 

        

 C, B, A 32 68 0   25 
1.6 A, B, C     46** 54 0  0.045 39 

        

 D, B, A 60 40  0  25 
1.7 A, B, D   75* 25  0 0.096 24 

 

Figure 4.2: Experiment 1 – Asymmetric Dominance 

Subjects were faced with a choice over a house to rent and asked to trade off two attributes of value: commuting time and state of repair. 

Subjects saw one of three different choice sets: {A, B}; {A, B, C}; or {A, B, D}. Choice C was a decoy intended to bias subjects towards 

choice B, and choice D was a decoy intended to bias subjects towards choice A. The figures indicate the percentage making the relevant 
choice. * Indicates significance at the 10% level; ** indicates significance at the 5% level; *** indicates significance at the 1% level. 

 

 
 

Test Choice Set and Order A B E F p-value n 

        

Panel A: Set Composition – Strong Compromise Effect 

        

 A, B 57 43    35 

2.1 A, B, E 41 41 17  0.633 29 
2.2 A, B, F 59 14  27 0.516 22 

        

 B, A 59 41    22 
2.3 E, B, A 33 52 14  0.198 21 

2.4 F, B, A 40 30  30 0.974 20 

        

Panel B: Set Composition – Weak Compromise Effect 

        

 A, B 57 43    35 
2.5 A, B, E   41* 41 17  0.064 29 

2.6 A, B, F 59      14***  27 0.004 22 

        
 B, A 59 41    22 

2.7 E, B, A    33** 52 14  0.015 21 
2.8 F, B, A 40 30  30 0.224 20 

        

Panel C: Ordering Effects 

        

 E, B, A 33 52 14   21 

2.9 A, B, E 41 41 17  0.232 29 
        

 F, B, A 40 30  30  20 

2.10 A, B, F   59* 14  27 0.055 22 

 

Figure 4.3: Experiment 2 – Compromise Effect 

Subjects were faced with a choice over a house to rent and asked to trade off two attributes of value: commuting time and state of repair. 

Subjects saw one of three different choice sets: {A, B}; {A, B, E}; or {A, B, F}. Choice E was set so that it made choice B a compromise. 
Choice F was set to make choice A the compromise. The figures indicate the percentage making the relevant choice. * Indicates significance 

at the 10% level; ** indicates significance at the 5% level; *** indicates significance at the 1% level. 

 
  



 

 

Test Choice Set and Order Rustat Av. York St. Cowper Rd. p-value n 

       

Panel A: Choice Pollution Effect 

       

 R, Y 46 54   39 
3.1 R, Y, C 57    39** 5 0.031 44 

       

 Y, R 39 61   44 
3.2 C, Y, R 60       37*** 3 <0.001 67 

3.3 Y, C, R 65      26*** 10 <0.001 31 

       

Panel B: Ordering Effects 

       

 Y, R 39 61   44 
3.4 R, Y 46 54  0.211 39 

       

 R, Y, C 57 39 5  44 
3.5 C, Y, R 60 37 3 0.364 67 

       

 R, Y, C 57 39 5  44 
3.6 Y, C, R 65 26 10 0.249 31 

       

 C, Y, R 60 37 3  67 
3.7 Y, C, R 65 26 10 0.362 31 

       

Figure 4.4: Experiment 3 – Complex Choice Set Effects 

Subjects were faced with a choice over a house to rent and given information about each property in the form of a „virtual 

tour‟ presentation including photos. Rustat Av. (R) was a two-bedroom city centre apartment; York St. (Y) was a two-

bedroom city centre terraced house; and Copwer Rd. (C) was also a terraced house, but with inferior features to York St. 
and worse location. Thus choice C is a decoy, intended to enhance the target, Y. The figures indicate the percentage 

making the relevant choice. ** indicates significance at the 5% level; *** indicates significance at the 1% level. 

 
 

 

 
 

 

 
  

 Estimated Value of House A 

 (1) (2) (3) 

Intercept, α 239,218 237,810 236,276 

 (3.398) (3.893) (2.769) 

Anchor 1 – top/ bottom 10% obs. truncated 3,730**   

 (0.673)   

Anchor 2 – errors +/- 50% truncated  2,083**  

  (0.771)  

Anchor 3 – errors +/- 60% truncated   3,445*** 

   (0.548) 

    

n 8 8 8 

Significance F 0.014 0.035 <0.001 

R2 0.84 0.55 0.85 

    

Figure 4.5: Experiment 4 – Anchoring Bias 

Subjects were asked to estimate the value of a property (whose true value was £240,000) having been given an anchor 

associated with their mobile phone number. The regression uses the following equation: 𝐻𝑜𝑢𝑠𝑒 𝐴 = 𝛼 + 𝛽𝑥𝐴𝑛𝑐ℎ𝑜𝑟 + 𝜀. 

The anchor variable used in each regression is the mean estimate of each „anchor bucket‟ – these having been constructed 
by placing each observation into buckets 0-9 according to the first digit of the anchor. Buckets 0 and 9 are excluded from all 

regressions. There are three regression presented each with a different method of truncation. Column (1) truncates the top 

and bottom 5% of estimates; column (2) truncates errors of +/- 50% in terms of value; and column (3) truncates errors of +/- 
60% in terms of value. ** indicates significance at the 5% level; *** indicates significance at the 1% level. 

 

 
  



 

Panel A Panel B 

  

Figure 4.6: Experiment 4 – Relationship between anchor and House A estimate 

Subjects are grouped into „anchor buckets‟ according to the first digit of their anchor and the mean value for each bucket is taken. In Panel 

A, A line of best fit illustrates the relationship between the anchor bucket and the average estimate. It uses the same truncation method as 

column (1) of Figure 4.4. In Panel B the anchor buckets are grouped into twos with the same truncation method. 

 
 

 

 

 
 

Figure 4.7: Experiment 4 - Evolution of average house price estimates 

The mean estimate of all subjects for each of the four houses is presented along with the true values. 
 

 

 
 

 

 

 Cheapest comparable property shown: 

 First  Last 

n 54  60 

True Value £210,000  £210,000 
Mean Estimate £249,068  £251,273 

p-value 0.284 

Median £251,500  £255,000 
Mode £255,000  £260,000 

Std Dev £20,761  £20,662 

F 1.010 

 

Figure 4.8: Experiment 5 – Ordering Effects 

Subjects were asked to estimate the value of a property having seen four comparable properties. All 
properties were presented using a “virtual tour” with photographs. In treatment 1 (left-hand column) the 

cheapest property was presented first, with the most expensive last. In treatment 2 (right-hand column) 

this ordering was reversed, the most expensive property was first and the cheapest last. Descriptive 
statistics are presented above. 
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